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YEAR 2/O1 4 ANSWERS
SECTIONI

L (o). A hommer is used

becouse it is hord ond

metollic
(b). A sqw is used becquse

if is shorp

2. (o). Through digging

droinoges
(b)" I+ breeds mosquiloes

3. (o). Obliqr" object
(b). The sun

t{. (o). Teocher's guidonce

(b)"=90o-50o -4Ao
5. (q)" When the eorfh

obsfructs light from the sun
(b). U-b.o is the dorkest
pori of fhe shodow

6. (o). Chor"ool
(b). I+ is highly flommqble

7. Electricql energy, heot
energy, light energy

8. (o). n mefol is o good

conductor of heoi but o

non-metol is nof.
(b). Copper is o good

conductor of electricify
q. '(o).Orys"n

(b). Co.bon dioxide

10" (o). its density is higher
fhon fhot of wofer
(b). R"lo+ir" densify is the
rqfio of mqss of q
substonce fo thot of wqfer.

ll. Teocher's guidonce

12" (o)" eonvection
(b). M"""r.y

13. Teocher's guidonce

Itl" (o)" To regulofe cument
(b). Cqbles ore good

c-onducfors of electricity
15. For lighfing, for running

eleclric mochines

15. You moy be electrocuted
17" (o). When o stone is

dropped in wofer, sound is

heord (concentric *or"s)

(b). Wh"n in o holl qnd noise

is mqde, sound reqches the
woll qnd bounces bock in

form of on echo
(o). Y""
(b). Sound con be stored on

cossettes, mognetrc discs
(CDs)

Less efforf is used to
corry heovy weighfs, it
overcomes friction
A fop
(o)" tt contoins chemicols

ond germs
(b). Through boiling fhe
woter
(c). Bilhorzio

Teocher's guidonce
(o). A mognet is o piece of
melol thof qtfrocts other
mognetic substonces.
(b). It follows fhe principle

of o freely suspended

mognet with points norfh
ond soulh directions.

Teocher's guidonce

In lifting heovy mognetic

moteriols, used in industries

to seporote iron filings

from other moteriols

sEqrex!
Lung concer, whooping

cough, bronchitis
(o). Fo. proteclion ogoinsf

diseoses, for body building,

for provision of energy
(b). Breosf milk

(o). Epigeol germinotion,

hypogeol germinotion
(b). Oxygen, woter ond

wormih
(q). Fomily B

(b). Vitomlns ond minerols
(c). Fomily D

Plonts breqfhe out oxygen

which onimqls breqthe in ond

onimols breothe out corbon

dioxide which plonts breofhe
in.

A cockrooch undergoes

incomplete mefomor phosis

(3 stoges) buf o housefly

undergoes o complefe

metomorphosts (t{ stoges).

Mon breqthes through the
lungs while on insect

breothes through spirocles.
(o).Th" oll loy eggs
(b). Mommols
("). Th"y ore both cold

blooded onimols
(o). X-Pon".eos, Y-ileum,

W-liver
(b). Absorption of digested

foods
("). l+ produces insulin thot
regulotes sugors in the body
(o). Absfoining from sex,

ovoid shoring shorp piercing

instruments
(b). Sleeping under treqted
mosquifo nefs, sloshing the

bush oround homes.
(o). it does not hove q bock

bone
(b). +o give the body shope
(o). pulmonory ortery
(b). pul-onory vein

veins
(o). X-Ur"f.r, Y-urethro
(b). S+o."s urine before
possing if out
(c). Drink plenfy of woter,
do regulor exercises
(o). I+ helps to discover new

events
(b). Helps io know obout
dtfferent diseoses, how to
prevent ond cure them
("). H"lp" to know obout
different body porfs ond

how they funcfion.
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